410 ( )=
5
E+n x 10 E+3 x 1000
(kg/ ) (kg/

1 1.1E+0 5.0E+1 51.1 51.1
2
3
4 1.6E+1 15E+1 30.8 30.8
5
6
7 2.0E+2 2.1E+2 411.0 1.5E+3 1,460.0 1871.0
8 5.9E+0 1.0E+2 107.2 2.1E+3 2,123.0 2,230.2
9 4.7E+2 470.0 3.8E+0 9.2E+3 9,245.7 9,715.7
10 9.0E-1 0.9 14E+1 14.0 14.9
11 1.6E+1 7.5E+2 769.2 769.2
12 2.0E-1 15E+1 15.2 7.0E-1 14E+3 1,389.3 1,404.5
13 8.2E+1 82.0 82.0
14 2.5E+2 1.1E+3 1,348.5 1,348.5
15 6.5E+2 650.0 2.1E+2 212.0 862.0
16 4.0E+0 4.0 1.0E+1 10.0 14.0
17 4.8E+1 48.0 3.5E+2 8.3E+2 11811 1229.1
18 1.9E+1 19.0 19.0
19 7.0E+1 70.0 70.0
20 1.3E+0 13 9.0E-1 14E+3 1,400.9 1,402.2
21 5.0E-1 0.5 2.6E+3 3.9E+3 6,476.0 6,476.5
22 5.0E+0 5.0 14E+1 14.0 19.0
23 1.6E+2 160.1 4.0E+3 9.3E+3 13,3445 13,504.6
24 10E-1 0.1 4.0E+3 4,026.8 4,026.9
25 1.1E+3 1.8E+3 2,950.0 2,950.0
26 2.9E+0 3.3E+0 6.2 6.2
27 9.9E+0 9.9 1.5E+2 3.3E+2 484.3 494.2
28 4.8E+0 4.8 8.8E+1 7.0E+3 7,085.8 7,090.6
29 9.0E-1 9.0E-1 18 1.8
30 3.2E+1 32.0 8.3E+0 8.8E+2 883.3 915.3
31
32 14E+0 14 14E+0 14 2.8
33 1.2E+1 2.5E+1 37.0 37.0
34 3.3E+1 33.0 8.4E+1 84.0 117.0
35 1.0E+3 1,010.0 5.1E+2 509.0 1,519.0
36
37
38
39
40 6.1E+1 61.3 8.3E+2 830.0 891.3
41 3.0E-1 0.3 2.9E+4 29,100.0 29,100.3
42
43
44
45
46 9.0E-1 0.9 0.9
47

2.2E+2 2.8E+3 3,026.0 8.7E+3 7.6E+4 85,241.6 88,267.6
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